| Efficiency vs Dxy |

Q.02
X
© L
@018F
>
@016}
Q) -
@014
0.012F
0.01
0.008F
0.006F

eff

......................................................................

.......................................................................

0.004 | ++ieereiremesdonsssiensb e
0.002;— &
OJ--\.Q_IIII,I III.III I.IIII.I 1 ; 1 I!IIII. IIII.II II.IIII

Rati

0.95

—-25

~20-15-10 =5 0 5 10 15 20 25
TP dxy (cm)

FIt6_TT NMEW-TOWPDT

| Efficien

AARAXXA

—a— D
—— D
cyvsbDz| |—=—p
—— D

nND.02
S

..................................................................

20 -10 0 10 20 30
TP dz (cm)

Fit_TT _NEWdefault_specPLess1-lowpt
Fit EWdefault”specPLess2-lowpt
Fit EWdefault"specPLess3-lowpt
FiIt_TT_NEWdefault“specPLess4-lowpt




	Contents
	Page 1


